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QUESTION 1

When a new block is mined:

A. a list of transactions as well as uncles is incorporated in the block. All gas that is used during those transactions is
added to the miners\\' balance. Also, the block reward is added to the miner. Then the same transactions are run again
by every participating node in the network to achieve consensus.

B. a list of transactions is incorporated in that block. Gas used during the execution is attached to the executing
contracts while the block reward is automatically spread across the mining pool to ensure a fair spread. Consensus is

reached by a special form of hash code.

Correct Answer: A

QUESTION 2
What is the difference between ERC20 and ERC721 Tokens in simple terms?

A. The tokens of a certain ERC20 symbol are all the same, the tokens of an ERC721 symbol are all different. So,
ERC20 tokens are fungible, while ERC721 tokens are non-fungible.

B. The tokens of a certain ERC20 symbol are all different, the tokens of an ERC721 symbol are all the same. So,
ERC20 tokens are non-fungible while ERC721 tokens are fungible.

Correct Answer: A

QUESTION 3

Hashing Mining uses:

A. Keccack256 while internally to hash values it\\'s easy to use the Dagger-Hashimoto to create a meaningful hash.
B. the Dagger-Hashimoto hashing while internally the EVM uses SHA256 which is an alias for Keccack256.

C. the Dagger-Hashimoto hashing while internally the EVM uses Keccack256 which is almost similar to SHA256, but
has a different padding so produces different hashes.

Correct Answer: C

QUESTION 4
Externally Owned Accounts:

A. can be destroyed using the selfdestruct keyword. This way all remaining ether will be sent to the receiver address,
regardless if they have a fallback function or not.

B. are bound to a private key which is necessary to sign transactions outgoing from that account.

C. are logical opcodes running on the ethereum blockchain very similar to smart contracts.
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Correct Answer: B

QUESTION 5

Truffle boxes are a great way:

A. to contribute to the box community which is the distributed file system for truffle.
B. to start with a pre-configured environment for most web-development needs.

C. to use tools that makes boxing of Dapps for different platforms very easy.

Correct Answer: B
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